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No. 44 BF 50m Eik=E T am: 2571
B K 4 T B 2E KE B E
1 #5k  KIr BEOA KT K1 9/ 4 28. 68 TR
2 ) KA J S SR =3 9/ 5 28.76 TH%
3 I K& ER e K3 10/ 4 29. 06 6%
4 e KA ZE/SS =3 10/ 5 29.10 Tk
5 ftH &M t -tz ) /6 8/ 5 29. 55 1155k
- ISR EE T - JOC
6 JRH SRk WHTHS C K1 10/ 6 29. 65 6%
T ER EIR JE=N A =5l 9/ 3 29. 71 Tk
8 Mg BEHG SCHz 13 8/ 2 30.03 Sk
9 WA &4 H7HesSs 3 8/ 3 30.24 Stk
10 BEH HKy7SC 3 8/ 4 30. 51 T
11 = Bl H7HEeSS 52 8/ 6 30.52 6%
12 FTH KERE -z )i &2 9/ 2 31.09 55%
13 =& &K HE7YesSSsS 3 10/ 1 31.42 5%
14 Hk BEER IWWEHS C H1 8/ 1 32. 85 6%
15 JEH  #F IS C 19 9/ 7 32.91 *F@) 6%
16 fBH  #ih HT7ASS H2 7/ 6 33.08 6%
17 FH FfR J S Sk H12 9/ 8 33.53 6%
18 B f&ih A4 b4k /6 10/ 8 33. 60 9k
19 HF BASC HIT7AHSS Hi2 7/ 4 34.63 5%
20 & EH F£4SS 3 9/ 1 34. 67 3%
21 B AR Kfds C 1 7/ 1 34.76 6%
22 ik 75 a%/SS H2 8/ 8 34.78 5k
23 HE FEX VYAV NI =SB 7/ 2 34.97 65%
24 [H K HEFH R H NG 7/ 3 35.77 %
25 JIH {2 4 E =3 7/ 5 36. 89
26 TR HIEK 7Y% e TH —% 8/ 7 36. 90
OPN dbAT 2 K EA MBS#/n" =7 =310/ 2 30. 74 5%
OPN Il B IWHEHS C =110/ 7 32.18 55%
OPN JIlu )% Wl S C 1 6/ 8 36. 51 5%
OPN fEH WHMS C 2 6/ 1 36. 55 3%
OPN HiH #EH J S SR /N5 6/ 5 36. 61 9%k
OPN &% #A b -bB ) /N 6/ 4 36. 76 THE%
OPN EiA R AU AT il 4/ 4 36. 91 3%
OPN 14 AR E ZE/SS ] 6/ 3 37.55 2%k
OPN /K& EAr HEHZA NG 5/ 3 37.91 45%
OPN £ KH H7YesSs H2 6/ 6 38. 84 Ltk
OPN j&EA $hE k7S C NG 6/ 7 38.88 5%
OPN JE5H T Ze AR A KSR NG 5/ 4 38.90 5%
OPN HFH HE ZE/SS NG 5/ 5 39.74 4%
OPN JINR&RE KRR BTN 52 5/ 2 39.96
OPN f1H Bl a% /S S /NB 4/ 3 40. 22 4%
OPN fHig FEA SCHz /N6 5/ 6 40. 99 35K
OPN /INAAR AT A% HEH A /N3 5/ 1 41.23 5%
OPN [LUA B J S SR NG 5/ 8 41.77 3k
OPN Jfnj% ZE=S MBSH#/1N =) /N4 4/ 5 41.95 %
OPN R it SPEB7-% 0 /NG 4/ 2 42.08 5%
OPN 75k PEE RSB NG 2/ 2 42. 51 25
OPN fEAR {HE @R =5l 5/ 1 42.96
OPN BLJI|  Ki K#ALS C /N5 4/ 7 43. 65 1k
OPN % PeAst AEH R L /NG 3/ 8 43. 67 45%
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No. 44 BF 50m Eik=E T am: 2571
B K £ T B 2E KK i

OPN WH FEK o2F/SS /N4 4/ 8 44.00 6%
OPN fa fjE 2 it YA N NG 2/ 6 44. 96

OPN FJII 5P a%/SS N5 3/ 2 45. 14 3%
OPN [LHH &1 R YZYAV /N /NG 3/ 4 45.17 3%
OPN i 5 A4 b4 /M 4/ 1 45. 42 2%
OPN A& KiI&E KA S C /N3 2/ 7 45. 83 TH%
OPN Bl iz J SSHA¥F /N3 3/ 1 45. 84 5%
OPN 1112844 2 a% /7SS /N5 3/ 5 45. 85 2k
OPN &0 EHE YA N NG 2/ 5 46. 11

OPN HH 1Bt J S Sk NG 3/ 6 46. 14

OPN RE  #his XS C /INB 3/ 3 46. 68 2%
OPN KH #c YAV NI /N4 3/ 7 46. 75 2%
OPN “FBf i K B — MARK N4/ 6 47.57 Lk
OPN LA Peth 1= 15 =3 1/ 3 48. 06

OPN #A7k HE IS C NG 2/ 1 48. 21

OPN B 58D KA S C /N3 1/ 4 54.20 25%
OPN ZEH #I7 S R = 2/ 4 54.30

OPN iR 1L KfdS C /N3 1/ 5 59.34
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